
全⽇本出場決定戦

A1 E1

A2 E2

B1 F1

B2 F2

C1 G1

C2 G2

D1 H1

D2 H2
川村（東⼤）

h4の敗者 秋吉（専⼤）

杉野（国⼠舘）
g2の敗者 三⼭（東洋⼤）

g3の敗者 今村（⽴⼤）
今村（⽴⼤）

g4の敗者 ⽵ノ内（法⼤）

h1の敗者 齋江（国⼠舘）
⿊⽊（⽇体⼤）

h2の敗者 ⿊⽊（⽇体⼤）

e1の敗者 津野崎（横浜商⼤）
津野崎（横浜商⼤）

e2の敗者 ⽥畑（清和⼤）

e3の敗者 ⼭﨑（亜⼤）
⻫藤（国際武道⼤）

e4の敗者 ⻫藤（国際武道⼤）

f1の敗者

g1の敗者 杉野（国⼠舘）

h3の敗者 川村（東⼤）

澤⽥（⽴⼤）
澤⽥（⽴⼤）

⽥上（國學院）

⼤津（⽇⼤）
⼤津（⽇⼤）

中⻄（国⼠舘）

f2の敗者

f3の敗者

f4の敗者

鈴⽊（明星⼤）

古⽥（⽴⼤）

中村（横浜商⼤）
⽮野(国⼠舘）

増⽥（駒澤⼤）

平⼭（法⼤）

川井（中⼤）

⽯⽥（国⼠舘）

岡（国⼠舘）

五⼗嵐（都市⼤）

三輪（東洋⼤）

増⽥（駒澤⼤）

平⼭（法⼤）

古⽥（⽴⼤）

⽯⽥（国⼠舘）

菊地元（横浜商⼤）

岡（国⼠舘）

⼩川（麗⼤）

盛（成城⼤）

五⼗嵐（都市⼤）

c3の敗者

c4の敗者

a1の敗者

a2の敗者

a3の敗者

a4の敗者

d1の敗者

d2の敗者

d3の敗者

d4の敗者

b1の敗者

b2の敗者

b3の敗者

b4の敗者

c1の敗者

c2の敗者

⽮野(国⼠舘）

三輪（東洋⼤）

安藤（専⼤）

安井（早⼤）



I

J

K

L

M

N

O

P
H1の敗者

H2の敗者

菊地元（横浜商⼤）

⼩川（麗⼤）

盛（成城⼤）

安藤（専⼤）

安井（早⼤）

川井（中⼤）

鈴⽊（明星⼤）

中村（横浜商⼤）

⽥畑（清和⼤）

⼭﨑（亜⼤）

⽥上（國學院）

中⻄（国⼠舘）

三⼭（東洋⼤）

⽵ノ内（法⼤）

秋吉（専⼤）
齋江（国⼠舘）

秋吉（専⼤）

Nの敗者 中⻄（国⼠舘）

Oの敗者 ⽵ノ内（法⼤）

Pの敗者 齋江（国⼠舘）

Kの敗者 安井（早⼤）

Lの敗者 中村（横浜商⼤）

Mの敗者 ⽥畑（清和⼤）

Iの敗者 菊地元（横浜商⼤）

Jの敗者 盛（成城⼤）

⼭﨑（亜⼤）

⽥上（國學院）

三⼭（東洋⼤）

⼩川（麗⼤）

安藤（専⼤）

川井（中⼤）

鈴⽊（明星⼤）

F1の敗者

F2の敗者

G1の敗者

G2の敗者

C1の敗者

C2の敗者

D1の敗者

D2の敗者

E1の敗者

E2の敗者

A1の敗者

A2の敗者

B1の敗者

B2の敗者

菊地元（横浜商⼤）

安井（早⼤）

⽥畑（清和⼤）

齋江（国⼠舘）


